XFE R (B RO—RE SRR SLY,

N=Yh50y 1 RE G

FNALLYF 3mm
FNALLYF 4mm

5248| No. Sl E TS Bifi1 RN AYE | FER% wE
1 1 |MP22160-00-00 CRT-ES FEEY—+ A-17B o |EEY—} 1 1
o 2 2|L=3601=hyk
B =47 %4097 (BE) 2 2
EE—MEANAT %v97 () 2 2
11 2 [MP21325M00-00 CRT-SG HAUT—Y—F W360 F 1ETovavy-+ 1 1
BiESE 2 2
T A4 M5x14 2 10 8
1| 3 [MP21326A16-00 CRT-SG &H774——F A-16 F |E795-0-b 1 1
1| 4 [IMP80956—00-00 I7-N9yYay ALC-35-38 Fo\I7=nyyvay 1 1
1 5 [MP80732-01-00 I7-MoyyavAhn'— 38%38%3.5 Folhn- 1 1| BRI KIBE
1 6 |MP22828ES2-00 CRT-ES-2 ¥—tA"JLk L=600 Fo (o= b 1 1
1] 7 [MP23011A16-00 ZEELyY i —b A-16 ($) by R’ —p 1 1
1| 8 [MP90308 BOWFTHIEQANT x2/KAVVF3-4-5mm) | tyb| TER 1 1
TEA 1 1
TEB 1 1
1 1
1 1
1 1

FNALLYF 5mm

CRT-ES-2_250411

1/11

1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

548| No. Sl TR Bifif RN - AV | R =

2 | 1 [MP10153-00-00 Y—MVAT RN - 195 kg - 1 4

2 | 2 [MP1B000530UC1 AR M5%30%16 3 UCP F |7<AK I M5%30%16 4 UCP 1 2

2 | 3 |MP3B0005SAUCH1 M5SW 8.0%5.2%1.5 UCP 2705 96— M5 8.0%5.2%1.5 GB93-87 1 6
MP3B0005SAUC2 M5SW 8.0%5.2%1.5 (10%) wyb [R7YU5 T 4— M5 8.0%5.2%1.5 GB93-87 10
MP3B0005SAUC3 M5SW 8.0%5.2%1.5 (50%) tyb [R7YU8 Ty 4— M5 8.0%5.2%1.5 GB93-87 50

2 | 4 |IMP4B0105FNUC1 £Fyh M5 UCP GB923 (& Fyh M5 GB923 1 4
MP4B0105FNUC2 LFy+ M5 UCP GB923 (10%) tyh | &+ M5 GB923 10
MP4B0105FNUC3 £F9+ M5 UCP GB923 (50%) o |&Fyk M5 GB923 50

2 | 5 IMP10117 NAT %997 22%11.5 7 V—ANA{7°F 24 b N7 %497 22115 7L-An47° 2 2

2 | 6 |MP1B0406100UC oy 7 K Lk M6%100 326 UCP %%y 7' K Lk M6%100 326 UCP 1 1

2 | 7 |MP2B0006WAUCH1 M6795 % 6.2%12.8%1.0 UCP F |TFET9Yr— M6 6.2%12.8%1.0 1 14
MP2B0006WAUC2 M67v % 6.2%12.8%1.0UCP (104) tyb | STy e— M6 6.2%12.8%1.0 10
MP2B0006WAUC3 M67y % 6.2%12.8%1.0UCP (50%) tyb | STV e— M6 6.2%12.8%1.0 50

2 | 8 (MP2B0106JWO001 BIETy v 6.4%12.5%1.0 I |#HE7y v — 6.4%12.5%1.0 1 14
MP2B0106JW002 HRETy Y 6.4%12.5%1.0 (104) b [#HIETY Y r— 6.4%12.5%1.0 10
MP2B0106JW003 HHAETYYy 6.4%12.5%1.0 (50%) tyb [BHIET7y Y v— 6.4%12.5%1.0 50

2 | 9 |IMP4B0306UNUC1 UFvk M6 DIN98O  |u+ykM6 DIN98O 1 1
MP4B0306UNUC2 U+yh M6 DIN98O (10%) tyk|U+yM6 DIN9SO 10
MP4B0306UNUC3 U+yh M6 DIN98O (50%) tyh|U+yFM6 DIN9SO 50

2 | 10 |IMP10160-19-00 Z19RAIYIA7T0TI4 K (7°a79k 1 2

2 | 11 [MP70180—2B-00 JyNVARAA —H— Z19F 2 24 b | AN —H— 2 2

2 | 12 IMP10161-25-00 Z254F1yHR7 0794 K 7°a79k 1 2

2 |13 [MP10013 P 135 E#E 7 -1 E 5E yb |BHEFYy7 @ 135t-1 B A E 5 4
MP10013-50-00 D135 E#EFv 7 -1 E 5008 yb |[BHEFvy7 @ 13.5t-1 B A E 50

2 | 14 [MP10180-00-00 BIAE ~MAT 397 B8 25 AY M NAT 097 (B B) 2 2

2 | 15 [MP10169-00-00 JINBBAEY— A7 %7 B 25 A b |[BAN1T 07 (B ) 2 2

2 | 16 [MP1B040650UC1 [*¥v7 ' Lt M6%50 FUCP 134971 IVEM6E%50 FUCP 1 1
MP1B040650UC2 |¥+y7 & It M6x50 JUCP 1% yh [£0y7 K ILIME%50 FUCP 148 4
MP1B040650UC3  |¥+y7 & Ik M6x50 JUCP 1%%10 b [£0y7 K ILIME%50 FUCP 14810 40

2 | 17 (MP70180-3B-00 RAAN—%— 254 £ 24 b | AN —H— 2 2

2 | 18 (MP1B040645UC1 [*¥v7 ' W} M6*x45 FUCP 13497 K IV IM6%45 FUCP 1 1
MP1B040645UC2 |¥+vy7 & It M6x45 JUCP 1% b [£0y7 K L IME%45 FUCP 148 4
MP1B040645UC3  |¥+¥y7 & Ik M6*45 JUCP 1%%10 b [£0y7 K ILIME%45 FUCP 14810 40

2 | 19 IMP70007-00-00 ATV AN=H— p19F 24 AY M ATV AN —H— P 19F 2 1

2 | 20 (MP1B040630UC1 [*¥y7F W} M6%30 FUCP 134971 IV EM6%30 FUCP 1 2
MP1B040630UC2 |*+y7 Wt M6*30 HUCP 1% yh [£0y7 K ILIME%30 FUCP 148 4
MP1B040630UC3  |¥+¥y7 & Ik M6*x30 FUCP 1%%10 b [£0y7 K ILIME%30 FUCP 14810 40

CRT-ES-2_250411

2/11

1-FYAF250411




N=Yh50y 1 RE G

XERER XE RO —FE R RIS,

S 5[ No. BEma-r 54 B RN -y AV | A% BE
2 | 21 IMP4B0206—NUC1 |f4AvFyh M6 DIN982 & |¥40v+yk M6 DIN982 1 4
MP4B0206—NUC2 |F+1Bv iyt M6 DIN982 1% tyh [F400Fyh M6 DIN9S2 10
MP4B0206—NUC3 |F+40vFybk M6 DIN982 14%*5 tyh [F400F9h M6 DIN9S2 50
2 | 22 (MP11241-0R-00 BNV UNTERO BRIT A r &NV IUPTER0 BT R 1 1

AVLAYATYE 10 10

MP11241-0L-00 BNV UNTER0 BRIT & BNy MUNTER0° BRIT L 1 1

AVLAYAY L 10 10

2 | 23 IMP1B050635UC1 H 90497 K W M6%35 £ UCP R 40%ey7 R Ik M6%35 & UCP 1 2
MP1B050635UC2 H4v%vy 7 IV M6%35 £ UCP (4%) b [K 405497 K Wb M6%35 & UCP 4
MP1B050635UC3 F90F 97 K L M6%35 £ UCP (40%) b [K 405497 K Wb M6%35 & UCP 40

2 | 24 (MP4B0406JNUCT1 BB {T% Ty M6 RSy M6 1 2
MP4B0406JNUC2 AR 4T &9+ M6 (104) b [BHEB{ &Fyb M6 10
MP4B0406JNUC3 g 4T 249+ M6 (50) b [BEE{T &RFyb M6 50

2 | 25 [MP90500-00-00 Jr By A&l fE11=yPASSY I | B AFIELIyb 1 1

2 | 26 |MP90502—-00-00 FILA1UN TS BAT-240-025 F oyt 1 1

2 | 27 |MP40176-0R-00 CRT-ESAN7L7'L—% & ASSY b7 L—Fn - 1 1

04Y— 1 1

BEEHITLARANBI LR 1 1

T4 x—%+97° 1 1

MP40176-0L—-00 CRT-ESENFL7L—% & ASSY b7 L%l - 1 1

04Y— 1 1

BEEHITLARNET L-FL 1 1

IAX—%+97° 1 1

2 | 28 |IMP11616—-0R-00 CRT-ESANILZL-¥LnN-H F |7L—¥Liv-R 1 1

MP11616—0L—-00 CRT-ESANILA7L—¥LnN- Xk F |7V—=%bin-L 1 1

2 | 29 IMP40126-10 4¥— L720%900 {74%— L720%900 1 2

IAX—%+97° 1 2

2 | 30 IMP40182-0R-00 CRT-ESHINILT LXK A F |BREEEITVARNBT LR 1 1

MP40182-0L—-00 CRT-ESEINIL7L-%KK & b |BETEITLABNBIT %L 1 1

2 | 31 (MP11324-03-00 CRT-ES-2AIVK A9)y7°(24) b [IBFEH Yy 2 2

T A4+ M58 B 1 1

T a4 M5x14 B 1 1

2 | 32 IMP10040-01-00 AyE VI E Aty ME) M5%14 I |74k M5x14 2 1 4
MP10040-15-00 49T E Aty M) M5%14 15K ALY b | TV b M5x14 2 14
MP10040-60-00 AyE VY E Aty MER) M5%14 15K A4 b | T IAMb M5x14 2 60

2 | 33 |[MP90506—00-00 1=y M- BLkR7Y 7174 1 1

2 | 34 IMP90511-00-00 Bk 4sauk0—5—-ASSY  |avbn—3- 1 1

CRT-ES-2.250411 3/11 1—-FYA250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

548| No. Sl TR Bifi RN - AVH | R =
2 | 35 |MP90512-00-00 ENR 44 EY )y 7' ASSY 1997 ASSY 1 1
E NPy 1 1
7 ILa4h M5%8 B 1 1
2 MP90504—-00-00 CRT-ESHRERS | ER 1 1| BRIRIKIBE
2 MP90510-00-00 HlEII=y KN YEY 107 AY b [Vyky 10 1|BRIRIKBE

CRT-ES-2_250411

4/11

1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

52%8| No. Sl TR Bifi BRN-Y AYE | FER% =

3 | 1 |MP40075-00-01 CRT-ESFIBREN1-y}ASSY I |EERE-4- 1 2

EHERFASW 1 2

HEhyh 1 2

AN=H=7°L—} 1 2

90397 K W M5%40 £ UCP 2 4

ATV 96— M5 2 4

EENLT 1 2

3 | 2 [MP5B001/2SW-1 BHH#EER A7 Iye— o |EEHFASW 1 2
MP5B001/2SW-2 BHEEER A7)0 Tvve— 158 tyh [EERASW 10
MP5B001/2SW-3 BHEETER 2709 190v— 14845 b [EHERASW 50

3 | 3 |MP5B021/2NA-1 HEEEA Tt i |EsE b 1 2
MP5B021/2NA-2 HEEER Fob 15 tyh |[EE b 10
MP5B021/2NA-3 BHEEE R Ty 14845 O EXPPl 50

3 | 4 IMP30010-01-00 i 4u%v97 K IWFSWAT M5%40 £ UCP oAty 7 W LFSWAT M5%40 & UCP 1 4
MP30010-04-00 90497 K WISWAT M5%40 & UCP 148 bk [R 4% 497 K VPSWAT M5%40 £ UCP 4
MP30010-40-00 F 90y 7 R WASWAT M5%40 £ UCP 148%10 | tyh [ 40%v97 K LFSWHT M5%40 £ UCP 40

3 | 5 |MP42632 14%1.5 44% r [14%1.544% 1 2

3 | 6 IMP42633 14%15 F1-7° 5 [147%15 F1-7 1 2

14”%1.5 7597 1 2

F1-7 W7 1 2

3 | 7 |MP43307 GV V7 ASSYtyh LI [Ty = 5 2

N7 A=7 5 2

GF1—-7WLT 5 2

Fa-7"Fyk 5 2
MP43303 GV V7 ASSYtyb 557 A Y20 LI [Ty = 100
N7 A=7 100
GF1—-7WILT 100
Fa—-7"Fvb 100

3 | 8 |[MP43308-50—-00 GN' V7 BTy 7 507 AY b (W7 FeyT 50 2

3 | 9 |MP43310-00-00 EREANNT F EENLVT 1 2

CRT-ES-2_250411 5/11 1-FYAF250411




N=Yh50y 1 RE G

XERER XE RO —FE R RIS,
S 4[ No. BEma-r 5% B RN -y AV | A% =
4 | 1 [MP70132-1R-02 CRT-ES2BE79MF N E E X & & |79+’ L—w=400FER 1 1
Fry7 Kb M6%64%40 F UCP P=3 &L 1 1
ATV AN —%— d 19 1 1
LR 1 1
MP70132-1L-02 CRT-ES-2BE79M#F NN E B X £ 7987 —w=400FL 1 1
Foy7 K I M6%64%40 F UCP P=3 &L 1 1
ATYT AN —%— ¢ 195 1 1
BAE %y M6 1 1
4 | 2 |[MP70007-00-00 ATYTAN=Y— ¢ 19 254 AY b [R797° AN —%— P19 2 2
4 | 3 [IMP1B230665UC1 Fry7 KL M6%65%26 4= UCP P=3 7 | F%y7 W Wk M6%65 3 UCP 1 2
4 | 4 (MP4B0406JNUCT BTy M6 RSy M6 1 2
MP4B0406JNUC2 BTy M6 (107) GZ00204 b | S Ry M6 10
MP4B0406JNUC3 B 5y M6 (50%) b [BEE{T &RFyb M6 50
4 | 5 |IMP10089 d 19 IV $vy7°(kiRZE ) 5/8 P10010 b |19 IUN$v97° KIRERA 1 2
MP10089-01-00 d 19 IVF$vy7 (kiRER) F o119 IV Fvy7" KiRER 1
MP10089-50-00 b 19 IUN$vy7° OKIRE ) 5{@*10 b |19 TN $497° KIRER 10
5 1 |MP11533-00-00 CRT-ES-2/4 ERfEIFH LLASSY tyh |CRT-ES-2/4 E5{BIf51EASSY R 1 1
CRT-ES-2/4 ERfEIBHILASSY L 1 1
90397 K W M6%35 £ UCP 2 2
TIyYv— db 4 4
BAE %y M6 2 2
51 2 |MP11118-0G-00 WEw44 7 EREIFFIEFv Aty b (L=55) SFyb | 9k [Fvy7 K WIME%553 UCP 2 2
ERfBIfH b N B R 4 4
EJyr—M6 6.5%16%2.5 4 4
BEZEob ) 2
TJysre— M6 6.2%12.8%1.0 4 4
5 | 3 IMP1B040655UCH1 %97 KLk M6%55 3 UCP o [Fvy7 R W M6%55 3 UCP 1 1
MP1B040655UC2 $v97° K Ik M6%55 H UCP 143 b |F497 K ILE M6%55 3 UCP 4
MP1B040655UC3 Fvy7 W b M6%55 3 UCP 14810 b |F497 K ILh M6%55 3 UCP 40
5 | 4 |IMP2B0O006WAUC1 M6795 % 6.2%12.8%1.0 UCP F |TFET9Yr— M6 6.2%12.8%1.0 1 4
MP2B0006WAUC2 M67v % 6.2%12.8%1.0UCP (104) tyb |SETYY 94— M6 6.2%12.8%1.0 10
MP2B0006WAUC3 M67y % 6.2%12.8%1.0UCP (50%) tyb | SETYVe— M6 6.2%12.8%1.0 50
5 | 5 |IMP2B0O006WFUC1 EyYy— M6 6.5%16%2.5 F [FET99v— M6 6.5%16%2.5 1 4
MP2B0006WFUC2 FEyYy— M6 6.5%16%2.5 158 tyb | FETYYr— M6 6.5%16%2.5 10
MP2B0006WFUC3 EyYy— M6 6.5%16%2.5 1585 tyb [TV e— M6 6.5%16%2.5 50

CRT-ES-2_250411

6/11

1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

%8| No. BEmd-h BE% T BRI JCEALEE: BE
5 | 6 [MP4B0406JNUCT BIE Lo+ M6 r | Bs %yt M6 1 2
MP4B0406JNUC2  |#stBs&styh M6 148 £yh | IRy M6 10
MP4B0406JNUC3  |#stEg%T9h M6 148x5 oyh RS9 M6 50

CRT-ES-2_250411

7711

1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

52%8| No. Sl TR =-Fiv] BRN-Y AYE | FER% =

6 | 1 |MP52241-00-00 CRT-ES-2AAPU%vA3-ASSY T [FrRs- 1 2

6 | 2 |IMP52242-00-00 CRT-ES-2APU+vR4-1YDH ro|av 1 2

F90%py7 K L M6%65%20 HT BC 1 2

LFyb 1 2

TIyYv— db 2 4

A7 96— d6 1 2

6 | 3 |MP50802-00—-00 CRTAF+R4-HH'—p5n'-ASSY(1E 5 b | FvRI-ER{T 9T 2 2

FrR4— Yk —ban'- 4 4

HEEE Ty Y r—(]N) 6 6

e B &7y Y v—(K) 2 2

6 | 4 IMP1B040660BL1 Foy7 W Wk M6%60 F 2 %y 7 WLk M6x60 3 2 1 2
MP1B040660BL2 Fry7 KLk M6%60 3 2 148(4K) b [F497F L M6x60 F 2 4
MP1B040660BL3 97Kk M6%60 F B 1022(40K) b [Fv97 K I M6x60 F 2 40

6 | 5 |IMP2BO0O06WABLI1 EJysv— M6 6.2%12.8%1.0 2 T [FE799v— M6 6.2%12.8x1.0 B 1 4
MP2B0006WABL2 EDyyy— M6 6.2%12.8%1.0 2 148 tyb [TV e— M6 6.2%12.8%1.0 B 10
MP2B0006WABL3 ETyYr— M6 6.2%12.8%1.0 £ 1585 tyh [Ty e— M6 6.2%12.8%x1.0 2 50

6 | 6 |IMP3BO0O06SABL1 ATNUIT9v%— M6 6.2%12%1.5 B O R7YU T9v%— M6 6.2%12%1.5 B 1 2
MP3B0006SABL2 AT VI Tyo%— M6 6.2%12%1.5 B 148 bk [R7V0T Ty e— M6 6.2%12%1.5 2 10
MP3B0006SABL3 AT VI T %— M6 6.2%12%1.5 B 1485 b [R7)09 79— M6 6.2%12%1.5 2 50

6 | 7 |IMP4BO106FNBL1 KFyh M6 £ GB923 o |&Fyh M6 2 GB923 1 4
MP4B0106FNBL2 LFyb M6 £ GB923 14 tybh |E+yk M6 £ GB923 10
MP4B0106FNBL3 L+yh M6 £ GB923 148x%5 b | &+ M6 £ GB923 50

CRT-ES-2_250411

8/11

1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

S48 No. B am1—h B B f BN —Y JCEAGTE: B

71 1 |MP60139-0R-00 SK7'L—%ASSY & CRT-ES-2 F 7% 1 1

AN —H— 1 1

9y p— 6%13%1.0 UCP 2 2

A7U5" 96— M6 UCP 2 2

ATy M6 138 UCP 2 2

MP60139-0L-00 SK7'L—%ASSY & CRT-ES-2 F 7% 1 1

AN —H— 1 1

)y p— 6%13%1.0 UCP 2 2

A7U5"I9%— M6 UCP 2 2

ATy M6 138 UCP 2 2

7] 2 |MP60109-00-01 SK7'L—%4n'—- 25% wyb[hn-A 2 2

n-B 2 2

7 | 3 |MP60010-01-00 499" V7 V=% AN —%—No.1 T 399 V7 V- A~ - 1 2

7 | 4 |IMP2B0006WHUC1 M67yo% 6%13%1.0 UCP F |FEIyYv— 6%13%1.0 UCP 1 4
MP2B0006WHUC2 M67yo% 6%13%1.0 UCP (104) tyb [Ty 4— 6%13%1.0 UCP 10
MP2B0006WHUC3 M67yo+% 6%13%1.0 UCP (504) tyb [Ty 4— 6%13%1.0 UCP 50

7 | 5 [IMP3B0006SAUCT AUV D9V %— M6 6.2%12%1.5 A7 9V %— M6 6.2%12%1.5 1 4
MP3B0006SAUC2 AT D9V %— M6 6.2%12%1.5 148 b [ATYYT T9Ye— M6 6.2%12%1.5 10
MP3B0006SAUC3 AT VI Ty%— M6 6.2%12%1.5 158%5 b [A7YVT T9Ye— M6 6.2%12%1.5 50

6 |MP4B0O006NAUC1 ATy M6 1290 GB6170 F |7<fA+yM61=40 GB6170 1 4
MP4B0006NAUC2 ATy M6 1240 GB6170 148 wyh |7NATyMM61=90 GB6170 10
MP4B0006NAUGC3 FNFATyh M6 1290 GB6170 15845 wybh |7NAETyMM61=90 GB6170 50

CRT-ES-2_250411 9/11 1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

548| No. Sl TR Bifi BRN-Y AYE | FER% =
8 | 1 [MP30492-CR-00 CRT-ES—2A#{NH1 -+ & b [$4FH -1 1 1|RIEEAIZAZYES,
FANH-NEE ANYY 1 1
U=l HHAFHEE 1 1
4= 1 1
MP30492-CL-00 CRT-ES-2R#/MH-} & b [$4FH - 1 1
FANH-NEE ANYY 1 1
4= 1 1
8 | 2 (MP10039 M4.589E"V 29" T9veE L 157tk tyk [MA559EV) 2V T9veED 157 tyh 15 8
MP10125-10-00 M4 5FEIERSYE VI E' A M5%13 1047 AY) tyh 10 FANN =N B B BT RDSE A oz EE I,
8 | 3 ([MP30192-0R-00 CRTR7-LYK -+ & UVEIN 7l 1 1
0%y 7 R WASWAT M5%28E 2 2
MP30192-0L-00 CRTR7-LYK -+ & UVEIN y 1 1
0%y 7 R WASWAT M5%28E 2 2
8 | 4 IMP30018-01-00 R 4u%vy 7K IWFSWAT M5+28 2 R 0% ey 7 R IVFSWAT M5+28 2 1 4
MP30018-04-00 Fau%vy7 K IWFSWAT M5+28 8 158 Ty R 0% vy 7K IWFSWAT M5+28 2 4
MP30018-40-00 R 4u%vy 7 K IWFSWAT M5+28 2 148%10 Ty R 4054y 7K IWFSWAT M5%28 2 40

CRT-ES-2_250411

10/11

1-FYAF250411




XFE R (LB RO—FE SRR SLY,

N=Yh50y 1 RE G

548| No. Sl TR Bifif RN - AV | R =
10 [ 1 |MP11812-00-00 374 RO V-1 &R - 1 2
10 [ 2 IMP11730 100kgMi T EY—IL 108 tyh [100keTRTFE Y- 10 1
10 [ 3 IMP11711-PC-00 HAHIAFHEE Y- 108RY(GZ03504) b [V- EAHAFHTE 10 1
10 [ 4 IMP11731 YIMUNEEY- 1tyb=188 b |V UMY 18 1
10 MP90509-00-00 HE1=y HERIA L r |ERIAN W 1 1| BRARIEKBE
10 MP11813-00-00 CRT-ES UL VEE4SY 58 b iEESY 5 1| BRIRIKIBE
FHEHRAUN 5 1
CRT-ES-2_250411 11/11 1-FYAF250411




